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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 313 14.2 5.5 30 47.5 34.5
2 595 17.4 5.1 30 58 65.5
3 425 16.8 5.7 30 56.1 46.8
4 481 15.2 5 30 50.6 53
5 559 15.2 6.5 30 50.7 61.6
6 335 15 5.3 30 49.9 36.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2 (a) Explain why firms may not aim to maximise profit and instead pursue other 


objectives.  [10] 
 


Band 


AO1  AO3 


6 marks 4 marks 


What other objectives might firms pursue? Why might firms not aim to maximise profit? 


3 5-6 marks 
Excellent understanding of non-profit 
maximising objectives is shown.  
 
At least two alternative objectives are 
covered and a clear rationale for why each 
one might be pursued is given.  
 
A larger number of objectives covered in 
slightly less detail is fine here as long as 
each one is justified. 


 


2 3-4 marks 
Good understanding of non-profit 
maximising objectives is shown. 


 
Objectives other than profit maximisation 
are identified and some development is 
given, but the explanation as to why a firm 
might be pursuing them is not entirely 
convincing.  


 
Hence understanding is present, but not as 
full as it could be. 


3-4 marks 
Good chain of argument as to why firms 
might not aim to maximise profit covering  
the idea that firms might not want to 
maximise profit or that they might not be 
able to maximise profit, although a well-
developed set of arguments explaining why 
it will be difficult is also valid. 
 


1 1-2 marks 


Limited understanding of non-profit 
maximising objectives is shown. 
 
Candidate lists a number of alternative 
objectives, but does not show 
understanding of why a firm might want to 
pursue them.  
 
Hence answers may identify objectives 
such as sales revenue maximisation, 
perhaps even drawing diagrams, but does 
not explain why they would be followed 
rather than profit maximisation. 
 


1-2 marks 


Limited development and analysis covering 
the above issues superficially.  
 
Answer focuses more on what the other 
objectives are likely to be more than why 
firms might not aim to maximise profit. 


0 0 marks 
No understanding shown. 


 


0 marks 
No valid analysis. 
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Indicative content: 


 
Why firms might not maximise profit 


 
SR/LR:  short-run profit maximisation might be destructive to long term success if short-run 
maximisation results in cost cutting or exploitative behaviour or bad press. 
 
Divorce of ownership from control – shareholders may be unable to control managers: 
 
 Inadequate information – AGMs, shareholders reports 
 Lack of day to day access to managers, lack of executive power 


Principal-Agent issues 
Difficulty in co-ordinating action, especially for small shareholders 
Apathy or lack of knowledge amongst shareholders 
 


Profit maximisation in its narrowest sense (MC=MR) may simply be impossible - because it 
is not always possible to calculate precisely both MR and MC?  
 
Organisations are too complex to maximise anything, hence satisficing. 
 
Firms don’t wish to maximise profits because it could attract entrants.  
 
Minimising tax liability by practices such as transfer pricing. 
 
Reducing profit by lowering price to remove entrants (predatory pricing) or to deter potential 
entrants (limit pricing). 
 
 
Alternative objectives: 
 
Revenue – likely in commission based organisations such as real-estate, car sales, and 
financial products (miss selling to achieve revenue maximisation). Output and price where 
MR = 0 
 
Sales – Maximisation of the volume of sales (AR=AC)  
 
Market share – organisations that put short term growth ahead of profits. Could be prestige 
(hence vanity mergers) or more long term platform building (Google, Amazon). Also 
increased market share tends to be associated with monopoly creation. 
 
Survival – focus on cash flow rather than profit, especially in an economic downturn – goal to 
be one of the firms that can profit from the upturn by surviving that long. 
 
Social and community objectives. May be genuine or just a ploy. Plenty of examples of 
organisations that seem to be pursuing this – fair-trade coffee, M&S Plan A etc. CSR 
policies.  
 
Satisficing -.maximising benefits to all stakeholders. 
 
Public sector firms have other objectives set by the government/regulators e.g. Network Rail. 
Allow other plausible objectives. 


 
Industry specific objectives – load factor (airlines) occupancy rates (hotels). 
 
Cost minimisation – budget airlines. 
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(b) Markets dominated by large firms, such as Google, Facebook, Apple and Amazon 


can deliver huge benefits to consumers. To what extent should economists be     
concerned by highly concentrated markets such as these?  [20] 
 


Band 


AO1  AO3 AO4  


6 marks 6 marks 8 marks 


Is a good understanding 
shown of the problems (or 
otherwise) associated with 


concentrated markets? 


How good is the theoretical linkage back 
to whether economists should be 


concerned? 


How good is the judgement of 
the extent to which economists 


should be concerned about 
concentrated markets? 


3 


5-6 marks 
Good understanding of the 
issues surrounding 
concentrated markets is 
shown. 
 
It is likely that answers in 
this band will have looked at 
both efficiency and 
consumer issues at the very 
least. 


5-6 marks 
Excellent analysis as to why the points 
raised in AO1 are (or are not) of concern.  
 
The answer effectively links points to 
economic outcomes (either positive or 
negative).  
 
Efficiency points may link to welfare loss 
or waste of FoPs. Consumer points may 
link to welfare and so on.  
 
Answers in this band will have either a 
very strong technical understanding of 
the issues of monopoly or will have a 
really well-developed range of real-world 
examples which highlight the 
circumstances in which economists 
should or should not be concerned. 


6-8 marks 
Excellent evaluation of the 
extent to which economists 
should be concerned about 
concentrated markets. 
 
There is a well-balanced 
assessment as to the extent to 
which economists should be 
concerned, focusing on the 
circumstances under which 
concentrated markets are likely 
to be more or less problematic.  
 
Answers in this band directly 
answer the question (although 
this is not sufficient by itself). 


2 


3-4 marks 
Limited understanding of a 
good range of the issues 
surrounding concentrated 
markets.  
 
Answers in this band are 
likely to have a fair range of 
points, but these points are 
not well developed – the 
depth of understanding is 
not present that will allow a 
band 3 answer.  
 
Alternatively, the answer 
may be very narrow, 
showing a strong 
understanding of a narrow 
area such as efficiency, but 
not looking much outside it. 


3-4 marks 
Good analysis of the issues. 
 
The answer contains some technical 
analysis, but is lacking either breadth or 
depth.  
 
Economic theory is analysed or examples 
are used, but either the analysis lacks 
depth or there are significant areas which 
have not been covered. 


3-5 marks 
Good evaluation. 
 
Answers in this band are good 
two sided responses giving a 
full set of arguments on both 
sides of the debate. 
 
It is likely that examples have 
been used on both sides, 
although a very strong 
technical analysis will also be 
credited. 


1 


1-2 marks 
Limited understanding. 
 
Several advantages and 
disadvantages of 
concentrated markets are 
identified, but 
understanding is not well 
demonstrated – the answer 
is primarily knowledge 
based. 


1-2 marks 
Limited analysis. 
 
Analysis tends to be superficial with 
explanations as to why economists 
should be concerned tending towards 
less technical areas such as lack of 
choice or higher prices.  
 
Little in the way of sophisticated technical 
analysis of the issues. 


1-2 marks 
Limited evaluation. 
 
Some counter-arguments are 
present, but they tend to be 
asserted rather than analysed. 
Hence the depth of explanation 
that is required for a higher 
band is absent. 


0 0 marks 
No understanding shown. 


0 marks 
No valid analysis. 


0 marks 
No relevant evaluation. 
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Indicative content: 
 
Efficiency 
Concentrated markets are likely to be inefficient in a number of ways. Both Oligopoly and 
Monopoly markets are likely to be allocatively inefficient (because they have producer 
sovereignty and price setting power) meaning that price will be above the free market level 
resulting in a welfare loss. 
 
Likewise the lack of competitive pressure is likely to lead to productive and X inefficiency, each 
meaning that units are produced at higher unit cost than is necessary, meaning that FoPs are 
being wasted, which is bad for society as a whole. 
 
However, shareholder activism, contestability and regulation may all work to reduce the 
level of inefficiency in the market. 
 


On the other hand, dynamic efficiency is possible. Firms have abnormal profits because of 
barriers to entry and may have an incentive to use them to innovate either because they do face 
some competition or they are trying to consolidate their position (barriers to entry, long run profit 
maximisation). Hence the stage of monopoly power may be important – firms in newly 
concentrated markets (e.g. Amazon and Google) tend to be more innovative than long in the 
tooth leviathans. 
 
Likewise, efficiency can be argued to be relative. Firms in highly concentrated markets (where 
those markets are themselves large) may have internal economies of scale, which will allow 
lower costs, prices and higher welfare than a market dominated by smaller firms operating 
‘efficiently’. The extreme example of this would be a natural monopoly, where high levels of 
concentration are desirable from a cost minimisation perspective. 
 
 
Consumer 
Consumers tend to suffer as a result of higher prices and the risk that quality will suffer. The 
possibility of collusive behaviour in highly concentrated oligopoly markets may also be a factor 
here. 
 
On the other hand, firms seeking to consolidate their power may innovate and set prices low 
(limit pricing). Likewise price discrimination may benefit some groups. 
 
Successful regulation may protect consumers eg EU Competition Commission with Google. 
 
Economy 
Again much will depend on the nature of the concentrated market. In some, the drive for future 
success (as indicated by the firms in the stem) may lead to rapid growth, downward pressure on 
inflation, rising exports and job creation. However such benefits are not guaranteed, and some 
dominant firms may prefer simply to profit take, in which case the macroeconomic benefits will be 
lower (although strong dividend payments may be good for pensioners and governments may 
still benefit from corporation tax receipts. 
 
Other 


Suppliers may or may not benefit depending on the nature of the relationship – larger firms can 
bully suppliers into accepting lower prices (plenty of cases in the news) as a result of their 
monopsony buying power, but can work alongside suppliers to support them in other cases. 
 
Workers similarly may benefit from the fringe benefits associated with working for big firms 
(Google’s assorted HQs are good examples of this) or may be exploited by their monopsony 
power (some newspaper reports of Amazon workers allegedly having their toilet breaks timed). 
 
Overall 


Depends on the firm's stage of development, the level of concentration in the industry, the 
effectiveness of regulation, the role of shareholders, the degree of contestability and the actual 
objectives of firms. 












Revenue max and sales not clearly distinguished in theoretical terms using the diagram. Other objectives briefly mentioned ie survival. 
AO1: 5



Some mention of why firms might not want to profit maximise – it would attract new entrants.
AO3: 3







Q2a: 8 marks.



Rather odd oligopoly diagram. 







Efficiency and consumer issues covered rather superficially. 



Technical detail surrounding concentrated markets lacking detailed analysis. 
AO3: 2







Q2b: 10 marks.
Q2 total: 18 marks.



The Thames Water example could have been developed further in relation to natural monopoly.
AO1: 4



Some evaluation but needed to be more sophisticated.
AO4: 4



While there is nothing wrong in the content of this answer it lacks the theoretical rigour and depth (for example on efficiency) of the type of answer that would take a candidate into the top bands.












A very good start with the candidate explaining why a firm may not be able to profit maximise with good use of theory.
AO3: 4



Other objectives focus on sales and growth maximisation which are rather similar and there is not enough development as to why firms might pursue these objectives.
AO1: 4







Q2a: 8 marks.



The first diagram relating to economies of scale is a little unclear, but the candidate is making a good attempt to introduce relevant economic theory. 







The second diagram illustrates the deadweight loss of monopoly very well although a little more on allocative and productive efficiency in the text of the answer would have been good.



Good use was made of the firms that were given in the question as examples.







Q2b: 17 marks.
Q2 total: 25 marks.



Evaluation is introduced throughout although a slightly stronger overall judgment at the end of the essay would have been welcome. 
AO1: 5
AO3: 6
AO4: 6
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SECTION A


Answer one question from this section.


2. GOOGLE EXTENDS TESTING OF DRIVERLESS CARS. AMAZON CONTINUES
DEVELOPING PRIME AIR


	 (a)	 Explain why firms may not aim to maximise profit and instead pursue other objectives. 
[10]


	 (b)	 Markets dominated by large firms, such as Google, Facebook, Apple and Amazon can 
deliver huge benefits to consumers. To what extent should economists be concerned by 
highly concentrated markets such as these? 	 [20]
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3 (a)  Explain why recent UK governments have generally been concerned about 
high levels of public sector debt.  [10] 


 AO1 AO3 


Band 6 marks 4 marks 


 Is there an understanding of the concerns 
associated with public sector debt? 


Is there clear analysis as to why 
government have these concerns? 


3 5-6 marks 
Excellent understanding of the concerns 
arising from high public sector debt. 
 
Explanations are detailed and 
comprehensive. 


 


2 3-4 marks 


Good understanding of the concerns 
arising from high public sector debt. 
 
Some explanations may lack detail or a 
narrower range of concerns are identified. 


3-4 marks 


Good clear analysis. 
 
The reason for each concern is 
explained in detail with a clear chain of 
argument and showing an awareness of 
contemporary economic issues. 


1 1-2 marks 
Limited understanding of the concerns 
arising from high public sector debt. 
 
A few concerns may be identified. 
 
Candidate makes only assertions with 
little or no explanations. 


1-2 marks 
Limited analysis. 
 


Superficial explanation as to why high 
debt is a concern. 
 


There may be a lack of clarity in the 
analysis.  
 


There is little or no link to contemporary 
economic issues. 


0 0 marks 
No knowledge or understanding. 


0 marks 
No valid analysis. 


 
Indicative content: 
 


High levels of public sector debt are a concern because: 
 


High interest payments – claim on future tax revenue/less money available for future 
government spending programmes. 
 


Crowding out – resource and financial crowding out. 
 


Overseas held debt – claim by foreigners on UK resources/interest payments form a drain 
on the balance of payments. 
 


Instability and uncertainty - high debt levels can cause an outflow of hot money and may 
deter FDI. Also outflows from the economy can impact on the exchange rate. 
 


Fiscal targets set by the government for the budget/fiscal deficit and national debt are 
threatened. In the past the importance of EMU fiscal targets to meet the membership criteria 
for the single currency. 
 


Internal confidence issues may reduce both consumption and investment. 
Loss of confidence by the markets/loss of rating by agencies. 
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(b) Evaluate the use of supply side reforms in reducing unemployment in the UK. [20] 


 


 AO1 
 


AO3 
 


AO4 
 


Band 6 marks 6 marks 8 marks 
 Is there a good understanding of 


supply side policies in this 
context? 


Is there a clear analysis as 
to how the policies should 
reduce unemployment? 


Is there an effective 
discussion as to how 
effective policies are 


likely to be? 
3 5-6 marks 


Excellent understanding of how 
supply side policies can reduce 
unemployment. 
 


At least 2 key policies are 
identified and explained. 
 


The policies have depth to them 
and there is a clear understanding 
as to how they would be intended 
to operate in reducing 
unemployment. 


5-6 marks 


An excellent analysis of 
why supply side policies will 
impact on unemployment. 
 


Candidate has a clear line 
of argument to explain how 
policies will reduce 
unemployment. 
 


It is likely that at least 2 
different policies will be 
analysed and it will be very 
clear exactly why each 
policy reduces 
unemployment. 


6-8 marks 


An excellent critical 
evaluation.  
 


Candidate comes to a 
clear view as to the 
circumstances under 
which supply side 
policies either do not 
work or have 
limitations. 
 


Evaluation is an 
integral part of the 
answer throughout. 


2 3-4 marks 


Good knowledge and 
understanding of how supply side 
policies can reduce 
unemployment.  
 


At least 2 appropriate policies are 
identified and an attempt is made 
to show how they would be 
intended to reduce 
unemployment. 
 


The explanation as to how each 
policy is intended to operate is not 
fully developed, meaning that full 
understanding is not really 
demonstrated. 


3-4 marks 


A good analysis of why 
supply side policies will 
impact on unemployment. 
 


Answer may be strong on 
only 1 policy with limited 
development of others. 
 


Alternatively the answer 
may attempt to explain the 
links between the policy 
and unemployment, but 
may not be fully detailed in 
terms of its approach. 


3-5 mark 


A good evaluation. 
 


Answers in this level 
have qualified 
arguments but the 
answer lacks a fully 
rounded approach with 
the evaluation 
appearing as 
fragmented. 
 


Evaluation is not in 
evidence throughout 
the answer. 


1 1-2 marks 
Limited knowledge and 
understanding of how supply 
policies can reduce 
unemployment. 
 


1 or 2 policies are identified. 
 


Assertions are made but there is 
no real explanation which would 
demonstrate an understanding of 
how these policies are meant to 
operate. 


1-2 marks 
A limited analysis of why 
supply side policies may 
impact on unemployment. 
 


Analysis is limited possibly 
to a diagram based 
assertion in which the 
impact of the policy is 
shown. 


1-2 marks 
A limited evaluation. 
 


A basic attempt to 
show that supply side 
policies to lower 
unemployment may 
not work/ take time to 
work/have other 
limitations. 


0 0 marks 
No knowledge or understanding 
present. 


0 marks 
No valid analysis.  


0 marks 
No valid evaluation.  
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Indicative content: 
 
Brief explanation of the meaning of supply side polices with examples of those relevant to 
the labour market, i.e. training and education, tax and benefit reform, trade union reform, 
reduce information gaps/failure in the labour market. Infrastructure (roads/rail/broadband) 
 
Explanation of how these policies will reduce natural unemployment – impact on the LRAS 
or LRPC. 
 
Possible use of diagrams – AD/AS, Laffer Curve. 
 
Successful supply side reform attracts FDI. 
 
Successful supply side policies will also increase potential growth and reduce inflation as 
well as unemployment. 
 
BUT 
 
Time for policies to become effective. 
 
Potential for government failure/unintended consequences. 
 
Ineffective when unemployment is demand deficient – possible use of an AD/AS diagram. 
 
Cost to the government – higher government spending. 
 
Cost to firms – apprenticeship levy. 
 
Labour market more flexible but less secure with short term/zero hours contracts. 
 
Weakness of organised labour reduces pay and conditions/growth in income 
inequality/increase in poverty. 


 












A comprehensive explanation at the start covering the implications of high levels of debt on future generations. This is followed by mention of the effects of a loss of credit rating. If a further government concern had been introduced then a top mark would have been gained.
AO1: 4
AO3: 4







Q3a: 8 marks.



Policies introduced are education/training, infrastructure and investment in technology. Education/training is covered comprehensively with less detail on the other points.







Q3b: 13 marks.
Q3 total: 21 marks.



Evaluation is based upon cost and government failure. An interesting point is made that there is no need to waste money on supply side policies because, with such high levels of employment in the UK at present such policies are a waste of money. 



AO1: 5 (not quite enough depth on some of the policies)
AO3: 4 (strong on one policy more limited on the others) 
AO4: 4 (evaluation could have been more sophisticated and integral to the points made). 












Q3a: 7 marks.



Three concerns are raised in the answer, a sign of falling economic growth, crowding out and unsustainability. 



Crowding out and unsustainability show a little less understanding and analysis than the first concern. 
Crowding out could be a little clearer and development of the unsustainability point is a little shaky and wrong about the current size of the UK fiscal deficit. 



AO1: 4 (some explanations lack detail).
AO3: 3 (just in band 2 as the analysis is a little weak on the last two points)







Good general understanding of supply side policies. Education and training covered and evaluated. 







Q3b: 14 marks.
Q3 total: 21 marks.



Investment in research and development is a supply side policy objective and the candidate should really have delved into the policies that could bring this about. 



AO1: 4 (policies to increase research and development could have been introduced)
AO3: 4 (how will increased investment in research help to reduce unemployment?)
AO4: 6 (evaluation is integral to the points made)
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SECTION B


Answer one question from this section.


3. UK NATIONAL DEBT RISES BY £5000 PER SECOND. UNEMPLOYMENT LOWEST SINCE
2006 BUT STILL AROUND 1.7 MILLION


	 (a)	 Explain why recent UK governments have generally been concerned about high levels of 
public sector debt. 	 [10]


	 (b)	 Evaluate the use of supply side reforms in reducing unemployment in the UK. [20]
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5 (a)      What are the possible causes of a current account deficit on the balance of     
payments?  [10] 
 


 AO1 AO3 


 6 marks 4 marks 


Band Is an understanding of the causes of a deficit 
demonstrated? 


Is it clear why the deficit will 
increase as a result of these 


factors? 


3 5-6 marks 
Excellent understanding of the causes of a 
current account deficit. 
 
There are at least 2 potential causes introduced 
and the answer shows that these are well 
understood and explained in detail. 
 


 


2 3-4 marks 


Good understanding of the causes of a current 
account deficit. 
 
The answer lacks range or depth, primarily 
focussing on 1/2 major causes in detail with 
others dealt with more superficially with a lack of 
explanation. 


3-4 marks 


Good clear analysis of the causes 
of a current account deficit. 
 
There is a clear link as to why the 
cause is responsible for the 
deficit. There is a strong line of 
reasoning in the analysis. 


1 1-2 marks 


Limited understanding of the causes of a current 
account deficit. 
 
The answer may amount to little more than a 
number of undeveloped list of causes. 


1-2 marks 


Limited analysis of the causes of 
a current account deficit. 
 
The link between the cause and 
the deficit may not be made fully 
clear or undeveloped. 


0 0 marks 


No knowledge or understanding shown. 


0 marks 


No valid analysis.  


 
Indicative content: 
 
Possible causes of a current account deficit: 


 Loss of comparative/absolute advantage. 


 Decline in price/non-price competitiveness. 


 Over-valued exchange rate. 


 Increase in protectionism against exports. 


 Low savings rate – high marginal propensity to consume - often imports. 


 High rate of economic growth/High marginal propensity to import. 


 High rate of inflation compared to competitors. 


 Falling demand/recession in export countries e.g. euro zone for the UK. 


 Fall in earnings from overseas assets. 


 Fall in direct Investment Income e.g. oil price fall has resulted in less investment income 
from the UK’s ownership of oil assets. 


 Lack of government support for exporters. 


 High level of foreign ownership of domestic firms. 
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(b)  


 


To what extent should a government be concerned by a large current  
account deficit?  [20] 
 


 AO1 AO3 AO4 


Band 6 marks 6 marks 8 marks 


 Is a good understanding 
shown of the problems (or 
otherwise) associated with 
current account deficits? 


How well analysed is the 
link between the current 
account deficit and the 


problems (or otherwise) it 
might bring to the 


economy? 


How good is the 
judgement of the extent to 
which economists should 


be concerned about 
current account deficits? 


3 5-6 marks 


Excellent understanding of 
the problems associated 
with a current account 
deficit.  
At least 2 problems are 
identified with clear 
understanding shown. 
 
 


5-6 marks 


An excellent analysis of 
how problems of a deficit 
impact on the wider 
economy. 
 
Candidate has a clear line 
of argument to explain 
how the problems impact 
on the economy. 


6-8 marks 


An excellent critical 
evaluation. 
 
 
Each point made has been 
evaluated with an 
integrated approach to 
answering the question. 
The candidate has shown 
an ability to critically build 
an argument and may 
have produced a well-
rounded conclusion. 


2 3-4 marks 


Good understanding of the 
problems associated with a 
current account deficit. 
 
1 or 2 key problems are 
identified with 
understanding shown. 


3-4 marks 


A good analysis of how 
problems of a deficit 
impact on the wider 
economy. 
 
Answer may be strong 
only on some problems 
identified with a limited 
development of others. 


3-5 marks 


A good evaluation. 
 
Answers in this level may 
not have integrated their 
evaluation into their 
answer throughout. 


1 1-2 marks 


Limited understanding of 
the problems associated 
with a current account 
deficit. 
 
1 or 2 issues are identified 
but they are stated without 
explanation. 


1-2 marks 


A limited analysis of how 
problems of a deficit 
impact on the wider 
economy. 
 


1-2 marks 


A limited evaluation. 
 
A basic attempt to show 
circumstances when a 
current account deficit 
may not pose problems for 
an economy. 


0 0 marks 
No knowledge or 
understanding present. 


0 marks 
No valid analysis present. 


0 marks 
No valid evaluation 
present. 
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Indicative content: 
 
Concern: 
 
Demonstrates a lack of competitiveness of goods and services. 
 
Deficits (M>X) reduce AD and are a drag on economic growth. 
 
High import penetration leads to loss of employment. 
 
To make the balance of payments balance requires borrowing via the financial account 
thus foreigners have a future claim on UK assets (reliance on the 'kindness of strangers' – 
Mark Carney). 
 
Large deficits can lead to a lack of confidence in the economy causing speculative outflows 
and a collapse of the exchange rate. 
 
 
Often associated with ‘living beyond our means’. 
 
BUT 
 
Is the deficit long term/structural or short term and caused by unusual factors? 
 
The current account deficit can be balanced by a surplus on the financial/capital accounts. 
If the deficit is financed by inflows of long term capital such as FDI this will benefit the 
economy. 
 
The deficit may be the result of importing capital goods or raw materials which increase 
productive capacity and boost economic growth. 
 
If the country has a floating exchange rate the current account should not have a long term 
deficit – it’s a self-correcting mechanism reliant on elastic demand for exports and imports. 
 
A current account deficit provides an outlet for domestic demand and reduces inflationary 
pressure. 
 
What does large mean? A deficit of 4% of GDP plus is a problem but below that it is 
arguably manageable. 
 
In the short term a deficit can lead to higher living standards as consumption is outside the 
PPF. 












A number of causes of a deficit mentioned but explanations could be clearer – just in band 3.
AO1: 5



Chain of reasoning linking causes to the deficit could be a little clearer. 
AO3: 3







Q5a: 8 marks.



A narrow range of issues identified. 
AO1: 4



Technical analysis good on how the wider economy will be affected by a deficit.
AO3: 4







Q5b: 11 marks.
Q5 total: 19 marks.



Some evaluation which includes an overall judgement. 
AO4: 3



Overall the answer is rather narrow and needed to consider a wider range of issues. It simply does not go far enough in terms of length and depth for a high mark to be awarded.












Q5a: 10 marks.



Three clear paragraphs identifying three potential causes of a current account deficit all of which are valid. – an over-valued exchange rate, high costs of production and protectionism in export markets.
AO1: 6



Good clear analysis of the causes of a current account deficit. A very clear answer.
AO3: 4















Q5b: 18 marks.
Q5 total: 28 marks.



Borlel

Sticky Note

The strength of this answer lies in the range of points and the strong evaluation throughout. Diagrams are used effectively. The overall judgement could perhaps have been a little more developed. This was a band 3 answer helped by an accessible style and good use of paragraphs.
AO1: 6
AO3: 6
AO4: 6
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SECTION C


Answer one question from this section.


5. UK CURRENT ACCOUNT DEFICIT REACHES 5.2 % OF GDP IN 2015


	 (a)	 What are the possible causes of a current account deficit in the balance of payments? 
[10]


	 (b)	 To what extent should a government be concerned by a large current account deficit? 
[20]
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